6.1. EXEEDFA No1 &%

@) b=2,c=2V2

(3) a=3V3, /B =60°

6.1. EXEEDFA No2 B%H

3
(1) sin/C = o cos/C = ——

. 1 . 1
(2) sin/C = —, sin/B = -
2 2

V15-V3

(3) sin/BAD = T\[

6.1. EXEEDFIA No3 MB&

(1) a:\/g+3, R:\/§+\/§

@) a=4V3

(3) /C=45°, S=3

6.2. RIXEEDFIA No1 HRE

1) a=V13

(2) /B =120°

3) c=2+2V2

© A T4 VBRI 7' 07 (https://tutor-blog.com)



6.2. RIXEEDFIA No2 MBEEH

(1) £C = 45°
@ b=75
3) b:3+2\/i

6.2. RETEEDFIA No3 M
1) b=V6-V2, 1A =45
@ a=Ve6

@) b=1,V3-1

6.3. FRXTEE - RRTEEO=AFADOFHMA (1)

1) b=

Ve+V2
2

@) a=2\3+2DEE, /C =45
a=2\3-2m&= /C =135

G) a=3V2, b=3+V3

6.4. FiXEE - REXEED=ATADFHIA (2)

BD =8, AD =12

6.4. ERXEE - REXEED=ATADFIA (2)

BD =2V/3, AC = 3

No1l M#%

No1l &%

No2 &%
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6.5. =ABLDIADEADA/I Nol MBEE

(1) /B =60°

5V/3

2) tan/A = ——
(2) 7

6.5. ZAFDLDEBDR/N No2 BE

(1) 2C =135°

1
2) tan/A = —
@ 3

6.6. —ATOMIEHE Nol BT

1) 2<x<4
(2) 2<x<2\/§,\/13<x<4
B) 2<x<\7

6.6. =EBLDMIIEH No2 MBEE

(1) x>3

2) x>3+2V3

6.7. Z=AFOETE No1 MEE

) 5o V3+VI5
8
@ S:\/§8+3
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6.7. ZAFDEHE No2 BE

(1) S=3 (2) 526\/8
3 3+3V3
3) 5:% 4) S= +2\/_

6.8. UAFOMEE No.1 BE

1) S=12

77V/3
4

2) S=

6.8. MAKODHETE No2 MHE

1) S =12V6

2) S=10V3

6.9. EZAFDEE No1 MBE

313

SN

2 2V2

6.9. ELAFOEN No2 M
1) 2V3

2) 6+3V3
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6.9. EZAOEE No3 WM&

8V2-8

6.10. Z=AFOREM - HMEMH No1 #BE

1 V1
1) costA= ——, sinlA = —5
( 4 4

@) 5=V
4
6

w =SV
15

6.10. ZAFORNEM - AEMH No2 f#

e
¥

7\/51\/571
(2) c= —

6.11. AICNIET 2UAR Nol M@E
1) AC =13
2) AD = —1+V10
5\/§+\/%
2

@) S=

V39

@ R=-7
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6.11. BICAEET 2HAZ No2 ME

(1) sinsz = 2¥

) S=2V6

6.11. BIcET 2EAF No3 ME
(1) BD=1+V6
V6-3

6

(2) cos/BAD =

3+2\/8

3

(3) AB=

" S“Tm

6.12. —AFOEBEDHREXAIE - &/IME Nol EE

(1) A ADE = t(1-2¢)

(ﬁt:i@t%\EXE

Q| =

6.12. ZARDEBEDOR/IME No2 BE

1V3 , 3V3
—Xx - ——X
4 2

(1) §= +1

o) r= 2 oo xgnE LV3
11 44
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